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General Instructions :
(i) There are total 27 questions and fo

‘are compulsory.
(ii)  Section A contains question:
‘one mark each. st
(i)  Section B contains questic
marks each.
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SECTION - A
1. Wmaﬁﬁﬁwﬁaﬂwaﬁﬁmaﬁwﬁm@ﬁm@m% ? $9 SR 39
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At what stage does the meiosis oceur in an org
and mention the fate of the products thus produ
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anism exhibiting haploidic life cycle
ced.

ro
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Write the number of chromosomes body cells of honey bee workers and drone have.
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e
To=Ei T < et 3 T fea wret e firet weha & |

What are “flocs’, formed during secondary treatment of sewage ?

OR
Write any two places where methanogens can be found.
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Name the layer of the atmosphere that is associated with ‘good ozone’. 4 .,{
. F a2k -
OR

Mention the term used to describe a population interaction between an orchid growing
on a forest tree.

5. e R oA L. e Y ongafirh weHwn e S 0 T e £y
Frpfre foraT | Tt STTRIfTeh Sohtor 3 wTed FROTE ST IV (STHT) T ’
British geneticist R.C. Punnett developed ? graphical :? or se ﬁ‘_‘“ﬁf arg_“
éalle& «punnett Square”. Mention the possible result this representation pre
genetic Cross carried. LesSciltd
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It is said apomixes is a type of asexual téprdduction. Justify.
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13, feferft gﬁﬁuﬁwﬁhmgﬁfﬁamﬁ ? STE Fif |
How does a bisexual flowering plant ensures cross pollination ? Explain

14, memwwmmélmww%mmmw

foigatt (Wﬁ)ﬁ%nlwwmwwmmsam%mm
SR TR ST R |

Bee keeping practice is a good income generating industry. Write the differen; points
to be kept in mind for successful bee keeping, Write the scientific name of the most
common Indian species used for the purpose.,
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the mechanism of DNA replication with the help of a replication fork, What
Explain the ' A replication fork |
1lJ does the enzyme DNA-ligase play in a DNA rephcathn{fOl'k]
roie :
OR
4 Iabel a transcription unit from which the RNA segment given belo fss
Construct and Ia ‘ . zyme that transcribed this RNA:
:bed, Write the complete I s T .
been transcribed. Y¥I _ GCA-TG.CAT‘QQ-
AT ] e
5 “RNA molecule”
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(@)  Write two differences between Homo erec‘msland Homo"habilf._s"f, : & bf‘ A

gL

(b)  Rearrange the following from early to late geologxc penods f

Carboniferous, Silurian, Jurassic,

17.

18.

Effluent from the primary treatmenL )
Explain the process till the water is i
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Draw a labelled diagram to show interrelationship of four accessory ducts in a human
male reproductive system.

OR

Draw a sectional view of the human ovary showing the different stages of developing
follicles, corpus luteum and ovulation,
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OR :

(a) Explain linkage and recombination as put for
observations with Drosophila melanogaster cxe

(b) Write the basis onwh:chAIﬁedthrlevagt
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Describe the formation of recombinant DNA by the action of EcoRL

on v A
Describe the process of amplification of “gene 6f‘h@mst” using I
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Explain any two most important levels of biological organisation showing biodiversity
with the help of an example each,
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(a) Differentiate between spermatogenesis and Oogenesis on the basis of
@) Time of initiation of the process y ;; }
@ii) Site of completion of the process p:

(iif) Nature of meiotic division undergone by gamete mother cells

(b) Name the hormones and state their role involved in controlling spermatogenesis
in humans.

OR .
Explain the process of double fertilization in angiosperms.
S(f) Why does the development of endosperm preceeds that of embryo ?

(c) Listthe parts of a typical dicot embryo:
9
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Differentiate between incomplete dominance and co-dominance. Subs
answer with one example of each.

OR
(@ Write the contributions of the following scientists in
53 e

Georce Gamow ; Hargobind Khorana ; Marshall N
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